ZU8SULULNRRSNRL
Nuydwiwghp Jupknt npnodwt dwuhb
Cupuguljupgh swslughpp «@ZUN2R-2018/4-2-ENRZ2»

«Gplwth  Uphpwp Zhkpugnmt wiJut whuwljwt  pdjulut  hwdwjuwpub»
hhdtwnpudp  uwwnplh tkpuyuginid £ hp Juppputph  hwdwp plinnpuyph L
wuwwjwunwiyniptiph - dnpphipdwt tyuwwnwlny juquultpydus «320M2R-2018/4-2-ENR2»
Swbljugpny qudwt pupwgulupgh wpyniupnid wuydwtwghp Jupbknt npnodwtt dwupt
unbinkjuunynipmniip:

Quwhwwunny hwbdtwdnynyh 2018 pYuiwuih dwpnh 29-h phy 5 npnodwdp
hwunwwndl] ki pupugulupgh pnnp dwubwlhgubph Ynqdhg tbplujugdus  hwpnbph’
hpwdtph wwhwueubphtt hwdwywunwupwinipjut ghwhwndwt wpyniuptbpp: Zudwdw)t
nph

Quhwpwdhi 1: Fudwt wpwplju E hwtinhuwinid «3kwnhphght 10dq » dknpphpnudp.

Zpwykph Zpwykph Uthwluwyw-
/h Uwutiwljhgubph wuwhwgubphtt | wwhwbyukphu nwuuwbnpjul
widuinudubpp hudwywunwu- | shudwywnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipiniy
1 «<Lunuh dupd» UNC X
2 «Updwpldughw» PLC X
3 «*hfanbp Ludppnt 22» X
unc
4 «GYpndupd» UNC X
i gt
qpunbgpus Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnuig WUZ, hug.
wkntpp )
1 «Updupdughu» OLC X 181.5
«Yhpaintp Twdppnt 22»
2 une 192.35
3 «Lunuh dupd» UNC 194.55
4 «BYpndupd» UNC 367.5

ChnpJws dwubwlghtt npnobint Yhpun]ws suhwithy «Qunudbph dwuhbs 22 opkiph
34-pn hnnJws:

Quthwpwdht 2: Fudwbt wpwplu E hwinhuwind «Usniju wljnhyugdws 250Ug» dknpphpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhwbeukpht nwufuwtinipjui
b | Uuutulgh whyulnup hudwwwwnwu- | shudwyuwnuu- hudwpnun
huwtinn huyynbp | jpwtng hwynkp ujupwugpnipni
1 «<Lunuh upd» UNC X
i e
QPllrllllljlhl?pulb Uwubwlgh wiwinudp | Cinpdws dwubwljhg (wnwiig UUZ, hug,
ntpp npud)
1 <Lunwh pupd» UNL X 62.5




ChnpJws dwutwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quhwpwdht 3: Fudwt wnwplu |k hwinhuwinud «unjbljuyghdbtpng 10dy» dknpphipnudp.

Zpwytph Zpuytph Uthudwyw-
wwhwbeubphtt | wwhwbeuknht nuwujuwbnipjui
b | Uuutuhgh wiyulnup hudwwwunwu- | shuwdwyunuu- hudwnpnun
jupwtnn huyntp | jpwbnn hwynbp ujupuqgpnipmii
1 «Luinwh dupd» UNLC X
2 «kpdhuk Swpdlg> UNC X
Uwutiw
Uwutuhhgbph umulgulpl_]ulllgl(llbh
qpulélhl?pulb Uwubwlgh wiwinudp | Cunpdus dwutiwljhg (wnwiig UUZ, hug,
ntntpp Hpun)
«Lutnwh dupd» UNC X 6,6
2 «bkpdhuk Swpdtg» UNC 22,0

Chnpws twutwlghtt npnobint Yhpun]ws swthwithy «Fumdubph dwuhbs 22 opkliph
34-pn hnnJws:

Quthwpwdht 4: Fudwt wpwpu Ehwinhuwinid «Znpph wpjut vyhnwljniguqbpd wswugyuy
40uUg/d1, 5U)» Aknpphpnidp.

Zpwykph Zpwykph Uthwluwyw-
wuwhwgubphtt | wwhwbyuknhu nwuuwbnipjul
2h | Uwulwlgh whqutinulp hudwywunwu- | shudwyuwwnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipniy
1 <Lunuh dupd» UNC X
9 «*hjuntip Lwdppnt 22» X
unc
Uwubwlhgltph mng;ﬁﬁfgihu
qpuullélhl?pmb Uuwuliuljgh wiquinidp | Conpdus dwuiwljhg (wnwlig UUZ, hwg,
n&pp Ypuad)
1 «Lunuh dupd» UNC X 393,0
«*hpantp Twdppnt 22»
2 une 418,98

ChnpJws dwubwlghtt npnokint Yhpun]usd suhwihy «Fumdubph dwuhbs 22 opkiph
34-pn hnnJws:

Quthwpwdhi 5: Fudwl wowplu E hwighuwinud «Udppopun) 30Ug» dknpphpnudp.

Zpwytph Zpuytph Uthudwyw-
whwtgubkpht whwbgubpht nuwuuwtnipjul
&b | Uwulwlgh wiqutnulp }Tlmdmullsilmitil— ;}lllmduluﬁumlllllllu— hl?lldumn]zi

juwinn huynbp | jawtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
9 «*hjuntip Lwdppnt 22» X

unc

3 «kpupuk pupdkgrUNC X
4 «Updwpdughuw» @LC X




Uwubwlhglkph mn[u{;llillﬁljﬁllgibh
QPllrlllélhl?pulb Uwubwlgh wiwinudp | Cunpdus dwutwljhg (wnwig UU2, huig.
ntpp Y
1 Uppupimghu» PAC X 41,25
2 «kpuhuk dupubg»UNL 70,83
3 «Lunuh dupd» UNC 82,125
4 «ﬂ-hhlmhpUqulllEdppnh 22» 184,17

ChnpJws twutwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-nn hnnJwé:

Quthwpwdht 6: Fudwt wnwpluw E hwinhuwinid «bq

ndnipwi 100Up» dknpphpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbeubphtt | wwhwbeuknht nuwujuwtnipjui
b | Uuutuhgh wiyulnup hudwywunwu- | shudwywnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipnis
1 «<Lunuh upd» UNC X
2 «@ndpupdu» UNC X
Uwutuhhgibph mng‘;ﬁ?ﬁgihh
qpulélhl?pulb Uwubwljgh widuimudp | Cinpus dwubwljhg (wnwiig UUZ, hug,
wntntpp M)
1 «Fhinpupdu» UNC X 5.680,0
2 «Lunuh dupd» UNC 5.800,0

Chnpws vwutiwlghtt npnokint jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph

34-pn hnnJws:

Quthwpwdht 7: Fudwt wnwplju L hwinhuwiunid «Thwgbuywd 5dg/dy, 2d» dknpphpnidp.

Zpwytph Zpuytph Uthudwyw-
wuwhwgubphtt | wwhwbyuknhu nwupuwbnpjul
2/h | Uwulwlgh whqutinulp hudwywunwu- | shudwywinwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipni
1 «Lunuh dwpd» UNC X
Uwutuhhgbph mng?i;&gihh
qpuullélhl?pmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnutig W2, huug.
n&pp M)
1 «Lunuh dupd» UNC X 66,67

Chnpws vwutwlghtt npnokint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-nn hnnJwés:

Quthwpwdhi 8: Fudwt wnwpluw E hwinhuwiunid «Uulynpphtiwppent 50Ug/Al), 2u» Aknpphpnudp.

Zpwykph Zpwykph Uthwluww-
wwhwbeubphtt | wwhwbeuknht nwupuwtinipjui
b | Uuutwhgh wigubnuip hudwywwnwu- | shudwywnwu- hwdwnnn
juwinn huynbp | jawtng huynkp ujupugpnipini




1 «Updbupdughwu» PLC X
2 «Lunuh upd» UNC X
3 «Lynu kpu»UNLC X
Uwutuhhgbph mng;lSElTuligihh
qpunkgpws Uwubwljgh wiqutnidp | Cunpus dwubtwljhg (wnwiig UUZ, hwg,
wkntpp Ypud)
1 «Lunuh dupd» UNC X 310.0
2 «Updupdughu» OLC 311,25
3 «Lkynuykpu»UnL 326,38

Chnpws twutwlghtt npnobkint Yhpundws swhwihy «@unidibph dwupis 22 opkliph

34-nn hnnJwé:

Quthwpwdhl 9: Fudwt wnwpluw b hwinhuwinid «Nlwpugkunwdn), wghinhjuwihghjwppent,
yndtht 200Ug+200Ug+40Uqg» Aknpptipnudp.

Zpwykph Zpwykph Uthwluwyw-
wuwhwgubphtt | wwhwbyuknhu nuwuuwbnpjul
2h | Uwulwlgh whqutinulp hudwywunwu- | shudwywnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipniy
1 «<Lunuh dupd» UNC X
Uwutuhhgibph mng‘;ﬁ?ﬁgihh
QPllllllélhl?pulb Uwubwljgh wiqutnidp | Cunpus dwubtwljhg (wnwiig UUZ, hug,
n&pp M)
1 «Lunnuh dupd» UNC X 11.67

Chnpws vwutiwlghtt npnokint Yhpunyuws swihwithy «dunidubph dwuhts 22 opkliph

34-pn hnnpJwsé:

Quthwpwdhl

10: Qudwtt wpwplw L bhwinhuwind  «Ugknhjuwihghjuppent  500Ug»
Abtinpplpnudp.
Zpwytph Zpuytph Uthudwyw-
wuwhwgubphtt | wwhwbyuknhu nwuuwbnpjul
2/h | Uwululgh whqutinulp hudwyuwunwu- | shudwywinwu- hudwnnun
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipemii
1 «LG8UNULELU» UL X
«Luwnwh dwpd» UNL X
3 «[Yhpawntp Lwdppnt 22» X
unc
st g
quLrtllélhl?pulb Uwubwljgh widutnidp | Cunpws dwubwljhg (wnwbig UUZ, g,
n&pp Hpwd)
1 «Lunuh $wpd» UNC X 11.0
2 «LB8UNULGLU» UNL 11.425
«[Yhpaintp Twdppnt 22»
3 une 12,175




ChnpJws dwutwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quthwpwdht 11: Fudwb wpwplu E hwighuwiimud «Ughnhighunbhtt 200dg» dnpphpnidp.

Zpwytph Zpuytph Uthudwyw-
wwhwbeubphtt | wwhwbeuknht nuwujuwbnipjui
b | Uuutuhgh whqulnup hudwwywwnwu- | shwdwwyunuu- hudwnpnun
jupwtnn huyntp | jpwbnn hwynbp ujupuqgpnipmii
1 «Luinwh dupd» UNLC X
Uwutuhhgubph mn[u{;lllllﬁljlul}gibh
qpmélhl?pmb Uwubwlgh wiwinudp | Cunpdus dwutiwljhg (wnwbig UUZ, hug,
ntntpp )
1 «Lunuh dwupd» UNC X 586,73

ChnpJws twubwlghtt npnobint Yhpun]ws swthwithy «Fumdibph dwuhbs 22 opkliph
34-nn hnnJws:

Quthwpwdht 12: Gudwb wpwplu b hwinhuwtnd «Unydpudbpopuwgn), wnphubkpnuyphd
400Ug+80uUg» Aknpplpnuup.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhwbeukpht nwufuwtinipjui
b | Uuutuhgh whyulnup hudwwywwnwu- | shudwyuwnuu- hudwnpnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipnis
1 «<Lunuh upd» UNC X
9 «*hjuntip Lwdppnt 22» X
une
3 «bpuhuk dupdbgrUNL X
4 «Updupdughu» OLL X
5 «UpthhdbgpUne X
Uwutiw
Uwubwlhgltph mnmgmph:llgihh
qpuullélhl?pmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnwbig UUZ, g,
nupp Ypuad)
1 «UpthhdbypUNC X 15.0
2 «Lunnuh dwpd» UNC 18,62
3 «Updbuwpldughw» PLL 18,67
4 «kpdhubk dupdtg>UNL 60,0
«*hpantp Twdppnt 22»
5 une 74,83

ChnpJws dwubwlghtt npnobynt Yhpun]ws swthwithy «Fumdubph dwuhbs 22 opkliph

34-pn hnnJwé:

Quithwpwdhi 13: Fudwt wmnwpluw E hwinhuwinud «PFEnwdbpwqnt 1dq/q, 15g» dknpphpnudp.

Zpwykph Zpwykph Uthwluww-
wwhwbelbpht | wwhwetkphtu nuwuuwtnipjul
&b | Uwulwlgh wiqutnulp hudwywwnwu- | shudwywnwu- hwdwnnn
juwinn huynbp | jawtng huynkp ujupugpnipini
1 «UnpthhubpUarc X
«Updupdughu» OLC X




g
qpu?h]?pmb Uwubwljgh wiqutnidp | Cunpus dwubwljhg (wnwbig UUZ, hug,
wntntpp Y
1 «UpllllllﬂiI}»Uq]C X 7.0
2 «Updupdughu» OLC 7,23

Chnpjws twutwlghtt npnobkint Jhpwndws swhwihy «Fumdubph dwuhbs 22 opkiph
34-nn hnnJws:

Quthwpwdht 14: Fudwb wnwplw E hwtinhuwinid «hapuwnpng 50uq/dy, 500U» dknpplipnidp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbeubphtt | wwhwbeuknht nuwujuwtinipjui
b | Uuutuhgh wigulnuip hudwwywwnwu- | shuwdwwyunuu- hudwnpnun
huwinn huwyynbp | jpwtng huynkp ujupugpnipiniy
1 «GYpndupd» UNL X
2 «thlllnp» oOLL X
Uwutuhhgibph mng‘;ﬁ?ﬁgihh
qpull?hl?pulb Uwubwljgh widuiimidp | Cnpws dwubwljhg (wnwiig UUZ, hug,
wntntpp Ypund)
1 «Lbllllnp» (O3 X 270,0
2 «GYpndupd» UNC 275,0

Chnpws twubwlghtt npnobint Yhpun]ws swthwithy «Fumdibph dwuhbs 22 opkliph
34-pn hnnpJws:

Quithwpwdhi 15: Fudwb wpwplw E hwinhuwinid «hpuwnpng 400Uq/u], 5dp» dknpplipnidp.

Zpwykph Zpwykph Uthwluwyw-
wuwhwgubpht | wwhwbyuknhu nwuuwbnpjul
2/h | Uwululgh whqutinulp hudwywunwu- | shudwywinwu- hudwnnun
huwtinn huyynbp | jupwtng hwynkp ujupwugpnipni
1 «Lunuh dupd» UNC X
2 «Unpdwupdughu» OLC X
Uwubwlhgltph mng‘;;ﬁgibh
qPEShEPMB Uwubwljgh wiquinidp | Cunpws dwutmlhg (wnwig GUZ, hug.
n&pp Ypuad)
1 «Lunuh dupd» UNC X 56,83
2 «Updbuwpdughw» PLL 57,08

Chnpws vwutwlghtt npnokint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quithwpwdhi 16: Fudwt wnwplw E hwtinhuwbinid «hpuwdbpugni 1d

/dy, 5Up» dknpphpnudp.
Zpwykph Zpwykph Uthwluww-
wwhwboubphtt | wwhwbeubnht nuwupuwtinipjui
h
2 Vuutuhgh winjutnuip hudwywwnwu- | shuwdwyunuu- hudwnpnn
juwinn huynbp | jawtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X




Uwutiw
Uuuthgubph mnmgmpllulllgibh
qpu?h]?pmb Uwubwljgh wiqutnidp | Cunpus dwubwljhg (wnwbig UUZ, hug,
wntntpp )
1 «Lunuh dupd» UNC X 19.54
Chnpjws twutwlghtt npnobint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwé:
Quhwpwdht 17: Fudwl wnwplu E hwinhuwind «3hljjughn 60Ug» dknpphpnudp.
Zpwykph Zpwykph Uthwluwyw-
wwhwbeubphtt | wwhwbeuknht nuwujuwtnipjui
b | Uuutuhgh wiyulnup hudwwwwnwu- | shwdwwyunuu- hudwnpnun
huwinn huyynbp | jupwtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
9 «*hjuntip Lwdppnt 22» X
une
Uwutiwu
Uwutuhhgibph mnmgmpqlﬁgihn
qpull?hl?pulb Uwubwljgh widuimidp | Cnpduws dwubwljhg (wnwiig UUZ, hug,
wntntpp M)
1 «Luwnuh dwupd» UNC X 157,5
«*hjunntp Ludppnt 22»
2 une 159,79

Chnpws vwutiwlghtt npnokint jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph
34-pn hnnpJws:

Quthwpwdhi 18: Fudwt wnwplw E hwinhuwinid «hwugbywud 5dg» dknpplpnudp.

Zpwtph Zpuytph Uthudwwyw-
wuwhwlgubpht | wwhwbyuknhu nwuuwbntpjul
2/h | Uwulwlgh whqutinulp hudwywunwu- | shudwywinwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupwugpnipni
1 <Lunuh dwupd» UNC X
2 «Unthhutny» UNLC
Uwubulhglikph mng;i;ﬁﬁgihh
qpuullélhl?pmb Uwubwlgh wiuinudp | Cunpduws dwutiwljhg (wnuig UUZ, hug.
n&pp M)
1 «Upthhdbp UNC X 2,88
2 «Lunnuth dupd» UNC 3,088

Chnpws vwutwlghtt npnokint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quthwpwdhi 19: Fudwl wnwplu kE hwtinhuwiinid «thjnhwgqbd 90dg» dnpphpnidp.

Zpwytph Zpuybph Uthudwyw-
z/h | Uwubwlgh wiJuiunudp | wwhwbeubpht | wwhwgubpht nwupuwtinipjui
hudwywwnwu- | shuwdwwunuu- hudwnpnn




juwiting huynbp | jpwbnn hwynbkp ujupuqgpnipmnil
1 «*hhanbp Ludppni 22» X
une
2 <Lunuh dupd» UNC X
Uwutuhhgbph mng;i;ﬂgipn
qpu?h]?pmb Uwubwljgh wiqutnidp | Cunpus dwubwljhg (wnwiig UUZ, hug,
wntntpp )
1 «Luwnuh dwupd» UNC X 49,35
«[*hjunnbp Ludppnt 22»
2 une 49,41

Chnpjws twutwlghtt npnobint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-pn hnpJwé:

Quithwpwdht 20: Fudwl wpwplw E hwinhuwimd «Yhlndkuwy 1dg/dy, 10U» dknpplpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhwbeukpht nwufuwtinipjui
2h | Uwulwlgh whqutinulp hudwywunwu- | shudwywnwu- hudwnnun
huwinn huwyynbp | jpwtng hwynkp ujupugpnipnis
1 «Llﬂ.ll_lnp» oL X
Uwutuhgbph mng‘;ﬁ?ﬁgihh
qp;ll?hl?pmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnuiig UUZ, huug.
n&pp M)
1 «Lbllllnp» oL X 13,0

Chnpws vwutiwlghtt npnokint Jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph

34-pn hnnpJwsé:

Quthwpwdht 21: Fudwl wrwplu E hwinhuwinid «Indwytphynt 10dg» dknpplpnidp.

Zpwytph Zpuytph Uthudwyw-
wuwhwgubphtt | wwhwbyuknhu nwuuwbnpjul
2/h | Uwulwligh whqutinulp hudwyuwunwu- | shudwywinwu- hudwnnun
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipemnii
1 «U;Ilf.l)lll[lljlllghm» OLL X
Uwubulhglikph mng;i;ﬁﬁgihh
qpuullélhl?pmb Uwubwlgh wiwinudp | Cunpduws dwutiwljhg (wnuig UUZ, hug.
n&pp M)
1 «Updbupdughw» PLC X 7.8

Chnpws vwutiwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-nn hnnJwés:

Quthwpwdhi 22: Qudwb wnwplw E hwtinhuwinud «Inywdht 200Uq/5], 5d)» Aknpphpnidp.

z/h

Uwutulgh wiunidp

Zpwytph

wwhwbeubpht

Zpufph
wwhwbgbnht

Uthudwww-
nwupiwtinipjui




hudwwywunwu- | shwdwwyunuu- hudwnpnun
huwinn hwynbp | juwtng huynkp ujupugpnipini
1 «@npupdu» UNC X
Uwubwlhgitph mnz‘;u‘i;‘fu%gihh
qpu?h]?pmb Uwubwljgh wiqutnidp | Cunpdws dwutiuljhg (wnwig GU2, huig.
wntntpp M)
1 «PEndupdu» UNC X 1,463,33

Chnpjws twutwlghtt npnobkint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quthwpwdht 23: Fudwbh wpwpluw Ehwinhuwind «Ipnnwydbpht 20Uq/dy, 2d)» dknpphpnidp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetpht | wwhweukpht nwufuwtinipjui
b | Uuutwhgh winjutinulp hudwywunwu- | shudwywnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipniy
1 «<Lunuh dupd» UNC X
9 «*hjuntip Lwdppnt 22» X
une
Uwutuhhgibph mng‘;ﬁ?ﬁgihh
QPllllllélhl?pulb Uwubwljgh widuimidp | Cunpdus dwubwljhg (wnwiig UUZ, hug,
n&pp M)
1 «Luwnuh dwupd» UNC X 65,85
«*hjunntp Ludppnt 22»
2 une 188,0

Chnpws dwutiwlghtt npnokint Jhpwndws swhwithy «Gumdubph dwuhbs 22 opkiph
34-pn hnnpJwsé:

Quthwpwdht 24: Fudwl wpwplu E hwinhuwinud «dwilndhghtt 1000Ug» dAtnpplpnudp.

Zpwytph Zpuytph Uthudwyw-

wuwhwgubphtt | wwhwbyuknhu nwuuwbntpjul

2/h | Uwulwligh whqutinulp hudwyuwunwu- | shudwywinwu- hudwnnun
juwunn huyntp | jpwbnn hwynbp ujupuqgpnipemnii

1 <Lunuh dupd» UNC X
i g
qpulélhl?pulb Uwubwlgh wiuwinudp | Cunpdws dwutiwljhg (wnuig U2, huug.
wnkntpp )
1 «Lunuth dupd» UNC X 975,0

Chnpws vwutiwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quthwpwdhl 25: Fudwt wpwplw E hwtinhuwinid «Undbwnwqgnt 1dg/q, 15g» dknpplpnudp.




Zpwykph Zpwykph Uthwluww-
wwhwbekphi | wwhwbyukpht tnuwuuwtnipjul
2h | Uwulwlgh wiqutinulp hudwywunwu- | shudwyunwu- hwdwnnn
huwinn huwyynbp | jupwtng huynkp ujupugpnipinis
1 «*hjuntip Lwdppnt 22» X
une
Uwutuhhgibph mng;i;ﬂgipn
qpllrlllélhl?pulb Uuwultuljgh wiqutnidp | Cunpdus dwutiwljhg (wnwlg UUZ, hug,
n&pp M)
«[Yhpantp Twdppnt 22»
1 e X 55,45

Cunpus vwutwlght npnobint Yhpundws sunhwihy «Funudibph dwuhbs 22 opkph
34-nn hnnJwé:

Quthwpwdhl 26: Fudwl wpwplu E hwinhuwimd «dEuuyhphy 2dg/d], 150U)» dknpphipnudp.

Zpwytph Zpuytph Uthudwwyw-
wwhwbetphtt | wwhweukpht nwufuwtinipju
b | Uuutuhgh whyulnup hudwwwunwu- | shuwdwyunuu- hudwnpnun
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipmnii
1 <Lunuh dupd» UNC X
9 «*hfunbp Ludppnt 22» X
une
Uwubulhglikph mng‘;ﬁ;?ﬁgihh
qpulélhl?pulb Uwubwljgh wiqutnidp | Cunpdws dwutmljhg (wnwiig UUZ, hug,
ntntpp Ypund)
1 «Lunuh dwupd» UNC X 31,59
«*hjuntp Ludppnt 22»
2 une 31,68

Chnpws dwubwlghtt npnobint Yhpun]ws swhwihy «Fumdubph dwuhbs 22 opkliph
34-pn hnnJws:

Quthwpwdht 27: Fudwl wpwplu E hwinhuwimd «Euwjwyphy 10dg» dknpphpnudp.

Zpwykph Zpwykph Uthwluwyw-
whwlpttiphtt whwlgubphl nwuuwbnpjul
2/h | Uwululgh whqutinulp }llquldumlgnnitil— ;l'lllmlfuluﬁllmlllllzu- hElIumnI:l]

huwtinn huyynbp | jpwtng hwynkp ujupwugpnipni
1 «Lunuth dupd» UNC X
9 «(FPhjuwnbp Ludppnt 22» X

unc

3 «U;Ilq)ulplhllghul» OLL X
4 «Ljynukpu»UNLC X




Uwubuhhgubph mn[u{;llillﬁljﬁllgibh
qpll:élhl?pulb Uwubtwuljgh wiqutnudp | Chnpdws dwutwljhg (wnwlig UUZ, hug,
ntpp )
1 «Updunpdughu» OLC X 4,76
2 «Lbunuh dupd» UNC 5,33
3 «Lkjynuykpu»UnL 7,7
4 «[}hlumhpUqu;lCdppnh 2> 38,14

Cunplus vwutwlght npnobint Yhpundws suhwihy «Funuditph dwuhbs 22 opkph

34-pn hnpJwé:

Quthwpwdht 28: Fudwl wrwplu E hwinhuwinid «Udhundhihtt 24dq/dy, 5Up» dinpplpnidp.

Zpwytph Zpuytph Uthudwyw-
wwhwbetpht | wwhweukpht nwufuwtinipju
Zh | Uuutuhgh whyulnup hudwwwunwu- | shuwdwyunuu- hudwnpnun
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipmii
1 «U.Il&)lll[ldlllgbul» (OJSTN X
<Luwnwh dwpd» UNC X
3 «LEynukpu»UNL X
Uwubulhglikph mng‘;i;ﬁﬁgibh
qpulélhl?pulb Uwubwljgh widuiimidp | Cunpduwé dwubwljhg (wnwbig UUZ, hug,
ntntpp Hpund)
1 «Updunpdughu» OLC X 91,0
2 «LEYynutpu»UNL 97,9
3 «Lunuth dupd» UNC 111,7

Chnpws dwubwlghtt npnokint Yhpun]ws swhwithy «Fumdubph dwuhbs 22 opkliph

34-pn hnnJws:

Quthwpwdht 29: Fudwlt wpwplw k hwinhuwind «kukughwy dnudnihuyhnubp 50uq/Ad;, 5dp»

Atnpphlpnudp.
Zpwykph Zpwykph Uthwluwyw-
wuwhwlgubpht | wwhwbyuknhu nwuuwbntpjul
2/h | Uwululgh whqutinulp hudwywwnwu- | shudwyuwwnwu- hudwnnun
huwtinn huyynbp | jpwtng hwynkp ujupwugpnipni
1 «Lbllllnp» oL X
2 «Lunuh dupd» UNC X
sl g
QPLlrllllelhl?pulb Uwubwlgh wiwinudp | Cinpdws dwubwljhg (wnwig UU2, hug.
n&pp )
1 «Lhyynp» OLC X 240,0
2 <Lunnwh dupd» UNL 259,36




ChnpJws dwutwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quthwpwdht 30: Fudwb wrwplu E hwinhuwimd «@hwudhi 50Uq/d), 1d)» dknpplpnidp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbeubphtt | wwhwbeuknht nwujuwtinipjui
h | Uuwul
2 wuluhgh witjutnulp hudwwywwnwu- | shwdwwyunuu- hudwnpnun
juwtnn huynbp | jpwbnn hwynbp ujupugpnipmnil
1 «Updwpdughw» PLL X
2 «Liynu kpu»UNC X
3 <Lunuh dupd» UNC X
Uwubwlhglkph DU;mEﬂlgh s
wnwownlus g
QPllrlllélhl?pmb Uwubwlgh wiwinudp | Cunpdus dwutiwljhg (wnwig UU2, huig.
ntpp )
1 «Lbunnuh dupd» UNC X 15,5
2 «Updupldughw» PLL 15,58
3 «LEynuEpu»UNLC 16,32

Chnpws dwutwlghtt npnokint Yhpunyuws swihwithy «dunidibph dwuhis 22 opkliph
34-pn hnnpJws:

Quthwpwdht 31: Fudwb wpwplu E hwiunhuwinud «@hidning 5dq/dy, 5U)» dknpplpnidp.

Zpwytph Zpuytph Uthudwyw-
hwboubnhtt | wwhwbeubkpht nwuuwbnipjul
h | Uwul wuhwbutp
2 wutugh wiyjubnuip hudwywwnwu- | shudwywnwu- hwdwnnn
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipmnii
1 <Lunuh dupd» UNC X
9 «[Yhpawntp Lwdppnt 22» X
unc
Uwutuhhgbph U‘”“hﬁﬂlgh o
wnwownplus g
qpuullélhl?pmb Uuwuliuljgh wijuinidp | Conpdus dwuiwljhg (wnwlig UUZ, hwg,
nupp Ypuad)
1 «Lunuh dupd» UNC X 1,767
«*hjunntp Ludppnt 22»
2 umne 1,769

Chnpws vwutiwlghtt npnokint Jhpwndws swhwithy «Gumdubph dwuhls 22 opkiph
34-pn hnyJwsé:

Quthwpwdhi 32: Fudwt wpwplu k hwinhuwinid «bpnigpndtu 400Ug» dknpphpnudp.

Zpwykph Zpwykph Uthwluww-
whuwbigkphtt whwtgkphtt nwufrwbintpyui
b | Uuutwhgh whgulnuip }tllllll[ulllll?llmgllil— ;lmlluluﬁum?ll:u— hl?lldumnltari
juwinn huynbp | jawtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
9 «[*hjuntip Lwdppnt 22» X
une




3 «Updwpdughw» PLL X

4 «kpupuk SupdtgpUNC X
i
QPtlrlllélhl?pmb Uwubwlgh wiwinudp | Cunpdus dwutiwljhg (wnwlig UUZ, hug,
n&pp M)
1 «kpupuk dSupdtgpUNC X 24,0
2 «Updupdwughu» OLC 30,3
3 «Lunuh dupd» UNC 30,72
4 «[}hlumhpUqu;lCdppnh 2> 179.95

Cunplus vwutwlght npnobint Yhpundws sunhwhy «Funuditph dwuhbs 22 opkph

34-p1 hnpJwé:

Quthwpwdht 33: Fudwb wpwplu Ehwinhuwinud «Lwlnniyng 670dg/d], 200U)» dknpphpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhweukpht nwufuwtinipju
b | Uuutwhgh winjutinulp hudwwywwnwu- | shuwdwwyuwnuu- hudwnpnun
jpwunn huyntp | jpwbnn hwynbp ujupugpnipmnii
1 <Lunuh dupd» UNC X
i e
qp;ll?hl?pmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnuig UUZ, hug.
n&pp M)
1 «Lunuh dwpd» UNC X 960,0

Chnpws vwutwlghtt npnokint Jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph

34-pn hnnpJwsé:

Quthwpwdht 34: Fudwb wnwpluw k hwinhuwinid «Lundjopuwmghti 500ug» dtnpplpnidp.

Zpwytph Zpuytph Uthudwyw-
wuwhwgubphtt | wwhwbyuknhu nwuuwbntpjul
2/h | Uwulwlgh whqutinulp hudwyuwunwu- | shudwywinwu- hudwnnun
jpwunn huyntp | jpwbnn hwynbp ujupugpnipemnii
1 <Lunuh dupd» UNC X
«kpdhuk Swpdkg>UNL X
Uwutuhhgbph mng?i;&gihh
qpuullélhl?pulb Uwubtwljgh wiquinudp | Cunpdus dwutwljhg (wnwiig UUZ, hug,
ntpp )
1 «kpupuk SupdtgpUNL X 313,33
2 «Lunuth dupd» UNC 321,33

Chnpws dwubwlghtt npnobjnt Yhpun]ws suhwithy «Funudubph dwuhis 22 opkiph

34-pn hnnJws:




Quthwpwdht 35:

Qudwtt wnwpiu E hwighuwind «Lundjopumghtt  5uq/d], 100up»
Adbtnpphpnidp.
Zpwytph Zpuytph Uthudwyw-
wuwhwgubphtt | wwhwbytknhu tnuwuuwbnipjul
h
2 Vuutuygh wifubnuip hudwwywwnwu- | shuwdwwyunuu- hudwnpnun
jupwitnn huyntp | jpwbnn hwynbp ujupwqgpnipniu
1 «blhlﬂfl)lll]’ll[» uae X
9 «*hhanbp Ludppni 22» X
unc
Uwutiw
Uwuthgubph mnmgmpllulllgibh
QPtlrlllélhl?pmb Uwubwlgh wiwinudp | Cunpdus dwutwljhg (wnwlig UUZ, hug,
n&pp M)
1 «Gypndupd» UNLC X 129,17
«[*hjunnbp Ludppnt 22»
2 ume 822,07

Chnpws vwutiwlghtt npnobint Yhpunyws swhwithy «Gumdukph dwuhbs 22 opkliph
34-pn hnnpJws:

Quthwpwdht 36: Fudwl wpwplu E hwunhuwimid «Lhnnlughtt 20dg/), 2] «dknpplpnudp.

Zpwtph Zpuytph Uthudwwyw-
wuwhwgubphtt | wwhwbyukphu nuwuuwbnpjul
h
2 Vwutugh wifutnuip hudwwywwnwu- | shuwdwyuwnuu- hudwnpnun
jpwunn huyntp | jpwbnn hwjnbp ujupuqgpnipmnii
1 <Lunuh dupd» UNC X
2 «U.IIQ)UJIIIIUlgbul» OLL X
Uwubuhhgbph mng‘;i;{;igb i
q
qpuullélhl?pmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnutig U2, hug.
n&pp M)
1 «Luwnuh dwupd» UNC X 31,0
2 «Updwupdughw» OLL 31,125

ChnpJws dwubwlghtt npnobynt Yhpun]ws swthwithy «Fumdubph dwuhbs 22 opkliph
34-pn hnnpJwsé:

Quthwpwdht 37: Qudwt wpwpliu E hwighuwiunid «Lhnnuyht 4,8Ugq/ntnuswth, 38g»

Atnpphlpnudp.
Zpwytph Zpuytph Uthudwwyw-
wwhwbeubphtt | wwhwbeubnht nuwupuwtinipjui
h | U
2 wuliugh whyubnulp hudwwywwnwu- | shudwywnwu- hwdwnnun
juwiting huynbkp | jpwbng huynbkp ujupuqgpnipnil
1 <Lunuh dupd» UNC X
9 «*hjuntip Lwdppnt 22» X
une
3 «Updupdughu» OLC X




Uwutuhhgubph mng‘;i;ﬁgibh
QPtlrlllllilhl?pulb Uwubwlgh wiwinudp | Cunpdus dwutwljhg (wnwig UU2, huiq.
n&pp )
] «ﬂ-hhlmhpUL;lllCl[ppnh 22» X 68.27
2 «Updupdwughw» OLC 68,83
3 «Lunuwh dupd» UNC 71,52

Cunplus vwutwlght npnobint Yhpundws sunhwihy «Funudibph dwuhbs 22 opkph

34-pn hnnJwé:

Quthwpwdht 38: Fudwtt wnwplw b hwinhuwind «Yuyghnidh qpnintwn 100Uq/Ad;, 10uU»

Abtnpphpnidp.
Zpwykph Zpwykph Uthwluwyw-
wwhwbeubphtt | wwhwbeuknpht nuwujuwtnipjui
b | Uuutulgh whyulnup hudwwwunwu- | shuwdwyunuu- hudwnpnun
jowunn huyntp | jpwbng hwynbp ujupugpnipmnii
1 <Lunuh dupd» UNC X

bt e
qp;lllélhgpmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnuig UUZ, hug.

nupp M)

1 «Luwnuh dwupd» UNC X 373,33

Chnpws vwutiwlghtt npnokint jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph

34-pn hnnpJws:

Quthwpwdht 39: Qudwlt wnwpluw b hwighuwinid «Gwighnidh pinphy 100dg/Ad], 5up»

Abinpplipnudp.
Zpwytph Zpuytph Uthudwwyw-
wuwhwgubphtt | wwhwbyuknhu nwuuwbnpjul
2/h | Uwulwlgh whqutinulp hudwywwnwu- | shudwyuwwnwu- hudwnnun
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipemnii
1 «U;Ilf.l)lll[lljlllghm» OLL X
2 <Lunuh dupd» UNC X
st poigh
qpuullélhl?pmb Uwubwlgh widwinudp | Cunpdws dwutwljhg (wnutig U2, huug.
n&pp M)
1 «Lunuh dwupd» UNC X 9,3
2 «Updupdughu» OLC 9,35

Chnpws dwubwlghtt npnobknt Jhpundws swhwihy «Fumdubph dwuhbs 22 opkiph

34-pn hnnJwé:

Quthwpwdht 40: Fudwl wrwplu £ hwinhuwinid «Ywyunnuphy 25dq dknpphpnidp.

| z/h | Uwutuljgh wiaduunudp |

Zpwytph

| Zpwdbph |

Unhwdwuu-




wwhwbeubphtt | wwhwbeuknht nwupuwtinipjui
hudwywunwu- | shudwyunwu- hwdwnnn
huwinn hwynbp | jpwtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
9 «*hpjuntip Lwdppnt 22» X
une
3 «Updwpldughw» PLC X
4 «Liynu kpu»UNLC X
T — e
qpunkgpwsd Uwubwljgh wiqutnidp | Cunpus dwubtwljhg (wnwiig UUZ, hwg,
wkntpp Tpud)
1 «Updupdughu» OLC X 19,05
2 «Lbunnuh dupd» UNC 19,15
3 «Lkjynuypu»UNL 20,15
«[Yhpantp Twdppnt 22»
4 une 116,9

ChnpJws twubwlghtt npnobint Yhpun]ws swthwihy «Fumdibph dwuhbs 22 opkliph
34-nn hnnJws:

Quthwpwdht 41: Fudwt wpwplu L hwinhuwinid «Yunduuninh hwintly 200dg/d], 30d)»

Aknpphlpnudp.
Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhwbeukpht nwufuwtinipjui
b | Uuutwhgh winjutinulp hudwwywwnwu- | shwdwwyunuu- hudwnpnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipnis
1 «Updupdwughu» OLC X
2 «Lynu kpu»UNLC X
i i
qpull?hl?pulb Uwubtwljgh wiqutnidp | Cunpdws dwutmlhg (wnwiig UUZ, hug,
ERERT Ypud)
1 «Lynuy kpu»UNC X 7,05
2 «Updwupdughu» OLC 7,65

Chnpws dwutwlghtt npnokint Jhpwndws swhwithy «Gumdubph dwuhls 22 opkiph
34-pn hnnpJwsé:

Quthwpwdht 44: Fudwl wpwplu E hwinhuwimud «TEnnnhdkt 1dg» dnpplpnidp.

Zpwytph Zpuytph Uthudwyw-
whwbgtbpht whwbetbphl nwupiwbnpjul
b | Uuutwhgh wigulnuip }ljlmdululﬁlmilil— Zilulduluﬁum?};u— hiudmnnljll
juwinn huynbp | jawtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
9 «[*hjuntip Lwdppnt 22» X
une




Uwutwhgubph mn[u?guulll;lljlllllgibh
qpilélhl?pmb Uwubtwljgh wiqutnidp | Cunpdus dwutwljhg (wnwlg UUZ, hug,
nkpp Tpud)
1 «Luwnwih dwupd» UNC X 6,5
) «[}hhlmhpUquluEdelnh A 24,74

Cunplus vwutwlght npnobint Yhpundws suhwihy «Funuditph dwuhbs 22 opkuph

34-pn hnpJwé:

Quthwpwdht 45: Fudwl wpwplu Ehwinhuwind «TEnnpnjuly 30Uq/Ady, 1d)» dknpphpnudp.

Zpwytph Zpuytph Uthudwyw-
wuwhwlgubphtt | wwhwbytknhu tnuwuuwbnipjul
&b | Uwulwlgh whqutnulp hudwywunwu- | shudwywnwu- hwdwnnun
juwunn huyntp | jpwbnn hwynbp ujupuqgpnipmnil
1 <Lunuh dupd» UNC X
9 «*hfuinbp Lwdppnt 22» X
une
3 «Llﬂ.ll_lnp» oLL X
Uwubulhglikph mng;ﬂﬁgiph
qp;ll?hl?pmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnuig UUZ, hug.
n&pp M)
1 «Lunuh dwupd» UNC X 40,0
«Yhpantp Twdppnt 22»
2 une 55,98
3 «Lbllllnp» (O3 210,0

Chnpws dwutwlghtt npnobkint Yhpwndws swhwithy «@unidibph dwuhiys 22 opkiph

34-pn hnnJws:

Quthwpwdhl 46: Fudwl wpwplu E hwinhuwinud «Unjjuhghtt 1dg» dbnpplpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetpht | wwhwbeukpht nwufuwtinipjui
b | Uuutulgh whyulnup hudwwwwnwu- | shudwwyuwnuu- hudwpnun
juwunn huyntp | jpwinn hwynbkp ujupugpnipmnil
1 «Unthhutny UNC X
2 «2kpuhtuk Swupdkg»UunL X
Uwutuhhgbph mnz;i;l?ul}gipn
qpmélhé]pulb Uwubuljgh wtduimidp | Cunpus dwubwljhg (wnwig GU2, huig.
wmtntpp M)
1 «Upthhdbp UL X 24,96
2 «2tkpdhuk Swpdkg>UNL 28,8

Chnpws dtwubwlghtt npnobint Yhpun]ud sunhwithy «Funudubph dwuhbs 22 opkiiph

34-nn hnnJwés:

Quthwpwdht 47: Fudwl wpwplu E hwinhuwimd «Uhkpudhn 250Uq/d], 2d)» dknpphpnidp.




Zpwytph Zpuytph Uthudwyw-

wwhwbelkphi | wwhwbytkphtu tnuwuuwtnipjul

2/h | Uwulwlgh whqutnulp hudwywunwu- | shudwyunwu- hudwnnun
huwinn huwyynbp | jpwtng huynkp ujupugpnipini

1 <Lunuh dupd» UNC X
Uwutuhhgibph mng;i;ﬂgipn
qpmélh]?pmb Uwubwljgh widuiimidp | Cunpdus dwubwljhg (wnwiig UUZ, hug,
wntntpp )
1 «Lbunuh dupd» UNC X 4,92

ChnpJws twutwlghtt npnobint jhpundws swhwithy «@unudibph dwupis 22 opkph
34-nn hnnJws:

Quthwpwdht 48: Qudwb wrwpluw b hwighuwinid «bwywpht (hbywuphtt bwnphnd)
5000U Uy, 5dy» dknpphpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhweukpht nwufuwtinipjui
b | Uuutuhgh whyulnup hudwywwnwu- | shudwyuwwnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipniy
1 «<Lunuh dupd» UNC X
«kpuhuk dupdtgpUNC X
3 «Lbllllnp» oOLL X
E— ik
qpulélhl?pulb Uwubwljgh wiqutnidp | Cunpus dwubtwljhg (wnwiig UUZ, hug,
ntntpp Ypund)
1 «Lunuth dupd» UNC X 3,818.75
2 «Zkpdhuk Swpdkg>UNLC 4,550.0
2 «Lhydnp» OLLC 4,550.0

Chnpws vwutiwlghtt npnokint Jhpwndws swhwithy «Gumdubph dwuhls 22 opkiph
34-pn hnpJws:

Quwthwpwdht 49: Qudwbt wnwpiu L hwinhuwbnd

«bwyunpht, wubkupkqht, phuqphy
uhynunhtwn, 25¢» dknpphpnudp.

Zpwtph Zpuytph Uthudwwyw-

wuwhwlgubpht | wwhwbyuknhu nwuuwbntpjul

b | Uuutulgh whyulnuip hudwwwuwnwu- | shwdwyunuu- hudwpnun
juwunn huyntp | jpwbnn hwynbp ujupuqgpnipemnii

1 <Lunuh dupd» UNC X
Uwubuhhgubph mng;uu‘i;‘iﬁgihh
qpmélhé]pulb Uwubuljgh wtduimidp | Cunpus dwubwljhg (wnwbig UUZ, g,
wnLntpp )
1 «Lunnuth dwpd» UNC X 79,1




ChnpJws dwutwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quthwpwdht 50: Fudwl wpwplu E hwinhuwimid «Ungbkdbinhntht /400Ug+5U)/» Ainpplpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbeubphtt | wwhwbeuknht nwujuwtinipjui
h | Uuwul
2 wuluhgh winjutnulp hudwwywwnwu- | shwdwwyunuu- hudwnpnun
juwtnn huynbp | jpwbnn hwynbp ujupugpnipmnil
1 «Lunwh dupd» UNLC X
9 «*hjuntip Lwdppnt 22» X
une
Uwutiuhhgibph mng‘;i;‘;ﬁgh s
q
QPllrllllIilhl?pulb Uwubwljgh wiqutnidp | Cunpdws dwutuljhg (wnwlig UUZ, hug,
ntpp )
1 «Lunuh dwpd» UNC X 107,5
«*hjunntip Ludppnt 22»
2 une 112,35

Chnpws vwutiwlghtt npnokint jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph

34-pn hnnJws:

Quthwpwdht 51: Fudwt wnwplu E hwiighuwinid «Uhghtt wqptgnipjut htunyht dwpnne
100U U], 3uUp» dknpphpnidp.

Zpwytph Zpwytph Uthudwwyw-
wwhwbetphtt | wwhweukpht nwufuwtnipjui
h | Uuul
2 wulihgh witutnudp hudwwywwnwu- | shuwdwwyuwnuu- hudwnpnun
jpwunn huyntp | jpwinn hwynbp ujupugpnipemnii
1 «U.L.'L dupd» UNL X
Uwubulhglikph Um“h‘liﬂlgh i
wnwownplus g
k
qpuullél l?pulés Uwubwlgh widwinudp | Cunpdus dwutwljhg (wnuig UUZ, hug.
nupp M)
1 «U.L'UL dupd» UNC X 290,67

Chnpws twubwlghtt npnobint Yhpun]ws swhwithy «Fumdubph dwuhbs 22 opkliph

34-pn hnnpJwsé:

Quthwpwdht 52: Fudwt wpwplu Ehwtinhuwind «Gupdwunt mqpbgnipjub piunijht dupnne
100UUA, 3uUp» dknpphpnudp.

Zpwykph Zpwykph Uthwluww-
wwhwboubphtt | wwhwbeubnht nuwupuwtinipjui
h
2 Vuutuhgh winjutnuip hudwywwnwu- | shudwywnwu- hwdwnnn
juwinn huynbp | jawtng huynkp ujupugpnipini
1 «U.L.U dupd» UNC X




E— gk
QPtlrlllllilhl?pulb Uwubwlgh wiwinudp | Cunpdus dwutwljhg (wnwig UUL2, huig.
n&pp )
1 «U.L'UL dupd» UNC X 545,0

Chnpjws twutwlghtt npnobkint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-pn hnpJwé:

Quthwpwdhi 53: Fudwb wnwplw E hwtinhuwimd «dEuh tdpht 10Uq/d], 1d)» dinpplpnidp.

Zpwykph Zpwykph Uthwluwyw-
wuwhwlgubphtt | wwhwbytknhu tnuwuuwbnipjul
&b | Uwulwlgh whqutnulp hudwywunwu- | shudwyunwu- hudwnnun
huwinn huyynbp | juwtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
Uwutuhhgibph mng‘;ﬁ?ﬁgihh
qpull?hl?pulb Uwubwljgh widuimidp | Cnpduws dwubwljhg (wnwiig UUZ, hug,
wntntpp Hpund)
1 «Lbunnuh dupd» UNC X 3,46

ChnpJws twubwlghtt npnobint Yhpun]ws suthwihy «Fumdibph dwuhbs 22 opkliph
34-nn hnnJws:

Quthwpwdht 54: Fudwl wpwplu E hwinhuwind «Ukphjyptnuhgnint 250Uq» dknpphipnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhweukpht nwufuwtinipjui
b | Uuutwhgh winjutinup hudwwywwnwu- | shuwdwyunuu- hudwnpnun
juwunn huyntp | jpwinn hwynbkp ujupugpnipmnii
1 «<Lunuh upd» UNC X
Uwubulhglikph mn[u];;i;ﬁligipn
qpulélhl?pulb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnuig WUZ, hug.
HIERE Ypuad)
1 «Lunuth dupd» UNC X 1,166.67

Chnpws dwutiwlghtt npnokint Jhpwndws swhwithy «Gumdubph dwuhbs 22 opkiph
34-pn hnnpJwsé:

Quthwpwdhi 55: Fudwb wpwplw E hwinhuwinid «Ukndnpilht 850Ug» dAknpptipnudp.

Zpwykph Zpwykph Uthwluww-
whwbgtbpht whwbetbphl nwupiwbnpjul
b | Uuutwhgh whgulnuip }ljlmdululﬁlmilil— Zilulduluﬁum?};u— hiudmnnljll
juwinn huynbp | jawtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
9 «[*hjuntip Lwdppnt 22» X
une




Uwutwhgubph mn[u?guulll;lljlllllgibh
qpilélhl?pmb Uwubtwuljgh wiqutnidp | Cunpdws dwutwljhg (wnwlg UUZ, hug,
nkpp Tpud)
1 «Luwnwih dwupd» UNC X 90,0
) «[}hhlmhpUquluEdelnh A 94,84

Cunplus vwutwlght npnobint Yhpundws suhwihy «Funuditph dwuhbs 22 opkuph

34-pn hnpJwé:

Quthwpwdhi 58: Fudwt wnwplw E hwinhuwtnid «3nhkpun) 755uUq/d), 100U)» dknpppnidp.

Zpwytph Zpuytph Uthudwyw-
wuwhwlgubphtt | wwhwbytknhu tnuwuuwbnipjul
&b | Uwulwlgh whqutnulp hudwywunwu- | shudwywnwu- hwdwnnun
juwunn huyntp | jpwbnn hwynbp ujupuqgpnipmnil
1 <Lunuh dupd» UNC X
9 «*hfanbp Lwdppnt 22» X
unc
3 «[FEndupdu» X
Uwubulhglikph mng;ﬂﬁgiph
qp;ll?hl?pmb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnuig UUZ, hug.
n&pp M)
«*hjunntp Ludppnt 22»
1 ume X 12,503.9
2 <Luwwnwh dwpd» UNL 12,654.0
3 «[FEndupdu» 12,820.25

ChnpJws twubwlghtt npnokjnt Yhpun]ws suhwihy «Fumdubph dwuhbs 22 opkiiph

34-pn hnpJws:

Quthwpwdhi 59: Fudwt wnwplw E hwtinhuwinid «NMuwwytpht 20Uq/], 2d)» dinpplpnidp.

Zpwtph Zpwytph Uthudwwyw-
wuwhwgubphtt | wwhwbyuknhu nwuuwbnpjul
2/h | Uwulwlgh whqutinulp hudwywunwu- | shudwywinwu- hudwnnun
huwinn huyynbp | jpwtng hwynbp ujupugpnipni
1 «Lunuh dwupd» UNC X
«LEynukpu»UNL X
3 «U;Ilf.l)lll[lljlllghm» OLL X
i e
QPuullélhl?pulb Uwubwlgh wiwinudp | Cunpdws dwubwljhg (wnwiig UUZ, hug,
ntpp )
1 «LEynukpu»UNC X 40,67
2 «Updwpdughu» OLC 50,83
3 «Lunuth dupd» UNC 52,55




ChnpJws dwutwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

Quthwpwdhi 60: Fudwt wnwplw E hwtinhuwinid «Mwpugbnwdng 500Ug» dAknpphpnudp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbeubphtt | wwhwbeuknht nuwujuwtinipjui
b | Uuutuhgh wigulnuip hudwwywwnwu- | shuwdwwyunuu- hudwnpnun
huwinn hwyynbp | jpwtng huynkp ujupugpnipiniy
1 <Lunuh dupd» UNC X
9 «*hpjuntip Lwdppnt 22» X
une
3 «Liynu kpu»UNLC X
Uwutuhhgibph mng;lSElTuligihh
qpull?hl?pulb Uwubwljgh wiqutnudp | Cunpdus dwubtwljhg (wnwiig UUZ, hwg,
AT Ypud)
«Lunuh dwupd» UNC X 8,75
2 «LEYynutpu»UNL 8,86
«*hjunnbp Ludppnt 22»
3 une 19,48

Chnpws vwutiwlghtt npnokint Jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph
34-pn hnnJws:

Quthwpwdht 61: Fudwl wpwplu E hwughuwimud «Mhpugbnwd 200Uq/d), 5U)» dinpplpnidp.

Zpwtph Zpuytph Uthudwwyw-
wuwhwgubphtt | wwhwbyukphu nwuuwbnpjul
b | Uuutulgh whyulnuip hudwwwwnwu- | shuwdwyuwnuu- hudwpnun
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipemii
1 <Lunuh dupd» UNC X
«Updupdughu» OLC X
Uwutuhhgbph mD[uZ;lJJIEEIEE%Zhh
qpuullélhl?pmb Uwubwlgh widwinudp | Cunpdus dwutwljhg (wnuig UUZ, hug.
nupp M)
1 «Updbuwpdughw» GLL X 275,25
2 «Lunuh dwupd» UNC 2925

ChnpJus dwubwlghtt npnolint Yhpun]ws suhwithy «Funudubph dwuhiis 22 opkiph
34-pn hnnJwé:

Quthwpwdht 62: Fudwb wnwplu k hwinhuwinud «Mhphnopuht 50ug/d], 1d» dknpplpnudp.

Zpwytph Zpuytph Uthudwyw-
wwhwbelbpht | wwhwbetkpht nuwuuwbnipjul
b | Uuutwhgh whgulnuip hudwywunwu- | shuwdwyunuu- hudwnpnn

juwiting huynbp | jpwbnn hwynbkp ujupuwqpnipniu

1 «Lunnwh dupu» UNC X




2 «Liynukpu»UNLC X
3 «Updwupdughw» PLL X
Uwutuhhgbph mn[u{;llillﬁljlul}gibh
QPtlrlllélhl?pmb Uwubwlgh wiwinudp | Cunpdus dwutiwljhg (wnwlig UUZ, hug,
n&pp M)
1 «Luwnuh dwupd» UNC X 9,77
2 «Updbupdughwu» OLC 9,8
3 «LEYynutpu»UNL 10,3

ChnpJws twutwlghtt npnobint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-nn hnnJws:

Quthwpwdht 63: Fudwbh wpwpluw khwinhuwind «Myuwnhdhiht 2dgq/Al, 1d)» dnpphpnidp.

Zpwykph Zpwykph Uthwluwyw-

wuwhwgubphtt | wwhwbyukphu nwuuwbnpjul

2/h | Uwulwlgh whqutinulp hudwywunwu- | shudwyuwnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipni

1 «<Lunuh upd» UNC X
Uwubulhglikph mng‘;ﬁ;?ﬁgihh
qpull?hl?pulb Uwubwljgh widuimidp | Cnpduws dwubwljhg (wnwiig UUZ, hug,
wntntpp Ypund)
1 «Lbunnuh dupd» UNC X 24,75

Chnpws vwutiwlghtt npnokint Jhpwndws swihwithy «Fumdubph dwuhls 22 opkiph

34-nn hnnJws:

Quthwpwdhlt 64: Fudwl wpwplu E hwighuwinud «Uyhpnunjuljnnt 25uUg» dknppipnudp.

Zpwtph Zpuytph Uthudwwyw-
wwhwbetphtt | wwhwbeukpht nwufuwtinipjui
b | Uuutulgh whyulnuip hudwwwwnwu- | shudwyuwwnuu- hudwpnun
jpwunn huyntp | jpwbnn hwynbp ujupugpnipemnii
1 <Lunuh dwupd» UNC X

Uwubulhglikph mn[u];;i;ﬁligipn
qpuullélhl?pmb Uwubwlgh widwinudp | Cunpdus dwutwljhg (wnuig UUZ, hug.

nupp M)

1 «Lunuh dwupd» UNC X 218,75

Chnpws dwubwlghtt npnokint Yhpun]usd suhwithy «Fundubph dwuhbs 22 opkiiph

34-nn hnnJwés:

Quwihhwpwdht 65: Fudwl wnwpliw b hwighuwind «@hwdht, nhpnbjudhl, whphnopuht,
uhynunhtwidhy /5dg/u+1dg/dj+ 5dg/Uj+50uq/dy/, 2d)» dknpplpnudp.

| z/h | Uwutuljgh wtduunudp |

Zpwytph

| Zpubph |

Uuhwdwuyu- |




wwhwbeubphtt | wwhwbeuknht nwupuwtinipjui
hudwywunwu- | shudwyunwu- hwdwnnn
huwinn hwynbp | jpwtng huynkp ujupugpnipini
1 <Lunuh dupd» UNC X
9 «*hjuntip Lwdppnt 22» X
unc
Uwutuhhgbph mng;i;ﬂgipn
qpu?h]?pmb Uwubwljgh widuiimidp | Cunpus dwubwljhg (wnwiig UUZ, hug,
wntntpp Hpund)
1 «Lbunuh dupd» UNC X 124,72
«[Yhpaintp Twdppnt 22»
2 e 131,08

Chnpws twutwlghtt npnobkint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-nn hnnJws:

Quthwpwdht 66: Fudwl wnwplu E hwinhuwinmd «Nipuuhnhy 5dq/dy, 10U)» dknpplpnidp.

Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhweukpht nwufuwtinipju
b | Uuutwhgh winjutnup hudwwywwnwu- | shuwdwwyuwnuu- hudwnpnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipniy
1 «<Lunuh dupd» UNC X

i e
qpulélhl?pulb Uwubwlgh widwinudp | Cunpdus dwutiwljhg (wnwbig UUZ, hug,

wntnbtpp Ypund)

1 «Lunuth dupd» UNC X 387,29

Chnpws vwutwlghtt npnokint Jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph

34-pn hnnpJwsé:

Quthwpwdht 67: Fudwl wowplu E hwinhuwinud «Sknpughlyhtt 10dg/q, 3g» Aknpplpnudp.

Zpwytph Zpuytph Uthudwyw-
wuwhwgubphtt | wwhwbyuknhu nwuuwbnpjul
b | Uuutulgh whyulnup hudwwwwnwu- | shudwwyuwnuu- hudwpnun
jpwunn huyntp | jpwbnn hwynbp ujupugpnipemnii
1 «UpthhdbypUNC X
«Updupdughu» OLC X
Uwutiwu
Uwutubhgltiph mnmgmpllulllgl;hh
qpmélhé]pulb Uwubwljgh widutnidp | Cunpdws dwubwljhg (wnwbig UUZ, g,
wmtntpp )
1 «UpthhdbypUNC X 9,33
2 «Updupdughu» OLC 8,0

Chnpws twubwlghtt npnobint Jhpundws swhwihy «Fumudubph dwuhbs 22 opkiph

34-pn hnnJws:




Quthwpwdht 68: Fudwb wnwplu kE hwinhuwinid «3kdugnihtt 1000Uq» dEnpphpnidp.

Zpwytph Zpuytph Uthudwyw-
wwhwbekpht | wwhwbyukpht tnuwuuwbnipjul
b | Uutuhgh whyulnup hudwwwunwu- | shwdwyunuu- hudwnpnun
jupwitnn huyntp | jpwbnn hwynbp ujupuqgpnipmnii
1 «Lunuih dupd»UMNC X
Uwutuhhgibph mng;liﬁlﬂgipn
qpllrlllélhl?pulb Uuwutuljgh wiquinidp | Cunpdus dwutiwljhg (wnwiig UUZ, hug,
nupp M)
1 <Lunuh paupd»>UNC X 12,08

ChnpJws twutwlghtt npnobkint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-nn hnnJws:

Quthwpwdht 69: Qudwl wnwpluw b hwiughuwinid «Shwunnpujudhn 0.5uUg/Ad],

1dy»
Aknpphlpnudp.
Zpwtph Zpuytph Uthudwwyw-
wuwhwgubphtt | wwhwbyuknhu nuwuuwbnpjul
2h | Uwulwlgh whqutinulp hudwywunwu- | shudwyuwnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipini
1 <Lunuh dupd» UNC X
2 «U.Il&)lll[ldlllgbul» OLL X
3 «LEynukpu»UNL X
Uwutuhhgibph mng?i;ﬁgihh
QPtllllllIilhl?pulb Uwubwlgh wiuwinudp | Cinpdus dwubwljhg (wnwiig UUZ, hug,
n&pp M)
1 «Lunuh dwupd» UNC X 7,75
2 «Updwupdwughu» OLC 7,79
3 «Lkynuypu»UnL 8,16

Chnpws vwutwlghtt npnokint Jhpwndws swhwithy «Fumdubph dwuhls 22 opkiph

34-pn hnnJws:

Qwhwpwdhtt 70: Qudwb wnwpiw b hwighuwind «8hwypndjopumghtt 2dq/dy, 200up»

Abnpplpnidp.
Zpwykph Zpwykph Uthwluwyw-
wwhwbetphtt | wwhwbeukpht nwufuwtinipjui
&b | Uwulwlgh wiqutnulp huwdwywwnwu- | shudwyuwnwu- hwdwnnn
juwinn huynbp | jawtng huynkp ujupwugqpnipini
1 «GYpndupd»UNC X
2 «Lblll_lnp» (O] ST X




Uwutuhhgubph mng‘;i;ﬁgibh
QPtlrlllllilhl?pulb Uwubwlgh wiwinudp | Cunpdus dwutwljhg (wnwig UUL2, huig.
n&pp )
1 «GYpndunpd»>UNLC X 420,0
2 «thlllnp» oL 480,0

ChnpJws twutwlghtt npnobint Jhpwndws swhwihy «Fumdubph dwuhls 22 opkiph

34-nn hnnws:

Quthwpwdht 71: Fudwb wnwupyu E hwinhuwinmd «dkhwqni, (hgnluyht 40Uq/q+10Uq/q, 15g»

Aknpphpnudp.
Zpwytph Zpuytph Uthudwyw-
wuwhwlgubphtt | wwhwhytknhu tnuwuuwbnipjul
&b | Uwulwlgh whqutnulp hudwywunwu- | shudwyunwu- hwdwnnun
jpwunn huyntp | jpwbnn hwynbp ujupuqgpnipmnii
1 «UnpthhubpUne X
Uwutuhhgibph mng‘;ﬁ?ﬁgihh
QPllllllélhl?pulb Uwubwljgh widuimidp | Cnpdus dwubwljhg (wnwiig UUZ, hug,
n&pp M)
1 «UnpthhdbpUnLt X 7,2

ChnpJws twubwlghtt npnobint Yhpun]ws swthwihy «Fumdibph dwuhbs 22 opkliph

34-nn hnnJws:

Quthwpwdht 74: Fudwl wnwplu E hwinhuwinid «Udopuhghihtt 500Ugrdtnpphpnidp.

Zpwykph Zpwykph Uthuwluwyw-
wwhwbetpht | wwhwbeukpht nwufuwtinipjui
2/h | Uwululgh whqutinulp hudwywunwu- | shudwywinwu- hudwnnun
huwinn huyynbp | juwtng hwynkp ujupwugpnipni
] «*hjuntip Lwdppnt 22» X
une
2 «Lunuh pupd»>UNC X
3 «Lynuy kpu»UNL X
Uwutuhhgbph mng?i;&gihh
qpull?hl?pulb Uwubwlgh wiwinudp | Cinpdus dwubwljhg (wnwiig UUZ, hug,
wntntpp M)
1 «LEynukpu»UNC X 6,17
2 «Lunuth pupd»UNC 25,58
«*hhuownkp Lwdppnt 22»
3 ume 28,83

Chnpws twubwlghtt npnobkjnt Yhpun]ws swhwithy «Fumdubph dwuhbs 22 opkiph

34-pn hnnJwé:




Quthwpwdht 75: Fudwb wrwplu |k hwinhuwinud «bnitntiwgng 150ugraknpplpniup.

Zpwytph Zpuytph Uthudwyw-
wwhwbebtphi | wwhwbyukphtu tnuwuuwbnipjul
&b | Uwulwlgh whqutnulp hudwywunuwu- | shudwyunwu- hudwnnun
juwtnn huyntp | jpwbnn hwjnbp ujupuqgpnipmnii
1 «Unthhukny UNLC X
2 «Lh]llIlUl]_hpu»UqlC X
3 «kpuhuk Swpdkg> UNC X
4 "fenidkuqdh Ipniy" X
unc
Uwutiw
Uwutuhhgubph umulgulpl_]ulllg}:}bh
qpllrlllélhl?pulb Uwutuljgh wiquinidp | Cunpdus dwuiwljhg (wnwlig UUZ, hug,
ntpp M)
1 «kpupuk Swupdkg» UNC X 86,67
"fenipEuqdh Gpniy”
2 e 88,0
3 «Unthhubtyp UNC 100,0
4 «LEynutipu»UNL 346,67

ChnpJws twubwlghtt npnokint Yhpun]ws suthwihy «Fumdibph dwuhbs 22 opkliph

34-pn hnnpJws:

Quthwpwdht 77: Fudwbt wpwplu E hwinhuwinid «Linpniyhdujuyhi»dEnppipnudp.

Zpwykph Zpwykph Uthwluwyw-
wuwhwgubphtt | wwhwbyukphu nwuuwbnpjul
2h | Uwulwlgh whqutinulp hudwywunwu- | shudwyuwnwu- hudwnnun
huwinn huyynbp | jpwtng hwynkp ujupugpnipnis
1 «dupd Ppuwuv»UNL X
Uwubuhhgbph mng?i;&gihh
qpull?hl?pulb Uwubwlgh wiuwinudp | Cunpdus dwubwljhg (wnwiig UUZ, hug,
wntntpp Ypund)
1 «dbupd Fpuuun»UNL X 324,0

Chnpws vwutiwlghtt npnokint Jhpwndws swhwithy «Gumdubph dwuhbs 22 opkiph
34-pn hnnJws:

Quthwpwdht 79: Fudwb wowplu E hwinhuwtnid «B-jjupnupnpph dulbpbuwght hwljwshu
(nkyndphtwtinn TUE) 1d) »dbEnpplpnudp.

Zpwytph Zpuytph Uthudwyw-
wwhwbelbpht | wwhwbetkpht nuwuuwbnipjul
&b | Uwulwlgh wiqutnulp huwdwywwnwu- | shudwyuwnwu- hwdwnnn
juwiting huynbp | jpwbnn hwynbkp ujupwqgpnipmnil
1 «Updupldughw» PLL X




Uwutuhhgubph mng‘;i;ﬁgibh
QPtlrlllllilhl?pulb Uwubwlgh wiuwinudp | Cunpdus dwutiwljhg (wnwig UUL2, huig.
n&pp )
1 «Updupdwughw» OLL X 455,0

Chnpjws twutwlghtt npnobkint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-pn hnpJwé:

Quthwpwdht 80: Fudwb wnwplu b hwinhuwimd «Gwpdpnijh YEuguth hwpnighsutph
poyugpuws  Jhpnwu,  jupdpwpinh YEugwiuh  hwpmighsibph pnywgpws dhpnuy,
hwpuljwupuyhtt gndwpnpph JEunwh hwpnighsutiph pnywugnpws Yphpniu 0.5»aknpphpnudp.

Zpwytph Zpuytph Uthudwyw-

wuwhwlgutphtt | wwhwbytknhu tnuwuuwbnipjul

b | Uutuhgh whyulnup hudwwywwnwu- | shwdwwyunuu- hudwnpnun
juwunn huyntp | jpwbnn hwynbp ujupuqgpnipmnil

1 «U.IIQ)UJIIIIUlgbul» OLL X

Uwutwuljgh
Uwutiwmljhgubtph Uwutilygh wnwownlwd ghlt
qpuntgpws mknkpp wijutnuip Clunpiwd twubulhg (wnwtg UUZ, hug.

Tpud)
1 «Updupdughw» OLL X 650,0

ChnpJws twubwlghtt npnobnt Jhpunyud swhwithy «Funudubph dwuhis 22 opkliph
34-nn hnnJws:

Quthwpwdht 86: Fudwl wpwplu k hwinhuwinud «2hgpnnpuhgqnt 5dq/q, 3grdtnpplpnidp.

Zpwykph Zpwykph Uthwluwyw-

wwhwbetpht | wwhweukpht nwufuwtinipjui

2/h | Uwulwlgh whqutinulp hudwywunwu- | shudwywinwu- hudwnnun
huwtinn huyynbp | jupwtng hwynkp ujupwugpnipni

1 «Upthhdbny UNC X
Uwubulhglikph mn[u];‘;u‘i;‘ful}gihh
qpull?hl?pulb Uwubwlgh wiwinudp | Cinpdwé dwubtwljhg (wnwiig UUZ, hug,
wntntpp Ypund)
1 «Upthhdbp UNC X 0,6

Chnpws dwutwlghtt npnokint Yhpwndws swhwithy «Fumdubph dwuhiys 22 opkiph
34-pn hnyJwsé:

Quwihhwpwdht 87: Qudwb wrwpluw b hwighuwimd «Zwlwpnunniyhtiught ohdntly U nhy
N5»abnpphpnidp.

Zpwytph Zpuytph Uthudwyw-
wwhwbelbpht | wwhwbytkphtu nuwuuwtnipjul
&b | Uwulwlgh wiqutinulp hudwywwnwu- | shudwywnwu- hwdwnnn

juwinn huynbp | jawtng huynkp ujupwugpnipini
1 «Updkudupd» UNC X




T
QPtlrlllélhl?pmb Uwubwlgh wiwinudp | Cunpdus dwutiwljhg (wnwlg UUZ, hug,
n&pp M)
1 «Unpdtudunpd» UNC X 11,25

Cunplus vwutwlght npnobint Yhpunws suhwihy «Funudubph dwuhls 22 opkiph
34-pn hnpJwé:

Quthwpwdht 88: Qudwh wpwpliw b hwinhuwinid «Zwjwpnwnnihiughtt ohdnly B wmhy
N5»3tnpphpnidp.

Zpwytph Zpuytph Uthudwyw-
wuwhwlgutphtt | wwhwbytknhu tnuwuuwbnipjul
b | Uutuhgh whyulnup hudwwywwnwu- | shwdwwyunuu- hudwnpnun
juwunn huyntp | jpwbnn hwynbp ujupwqgpnipniu
1 «Unpdkudpupd» UNLC X

Uwutuhhgibph mng‘;ﬁ?ﬁgihh
QPllllllélhl?pulb Uwubwljgh widuimudp | Cinpus dwubwljhg (wnwlig UUZ, hwg,

n&pp M)

1 Unpdkudpupd» UNLC X 17,708

ChnpJws twubwlghtt npnobint Yhpun]ws swthwihy «Fumdubph dwuhbs 22 opkliph
34-pn hnnpws:

Quthwpwdht 89: Fudwb wrwplu E hwighuwinud «Zwwpnunyhtwghtt ohdnily E why
N5»abnpphpnuup.

Zpwykph Zpwykph Uthwluwyw-

wuwhwgubphtt | wwhwbyuknhu nwupuwbnpjul

2/h | Uwulwlgh whqutinulp hudwywunwu- | shudwywinwu- hudwnnun
huwinn huwyynbp | jpwtng hwynkp ujupwugpnipni

1 «Unpdkudpwupd» UL X
Uwutuhhgbph mng?i;&gihh
qpull?hl?pulb Uwubwlgh wiuinudp | Cinpdus dwubwljhg (wnwiig UUZ, hug,
wntntpp Ypund)
1 «Undkudwupd» UNC X 20,63

Chnpws vwutiwlghtt npnokint Jhpwndws swhwithy «Fumdubph dwuhbs 22 opkiph
34-pn hnnJws:

Quthwpwdht 90: Fudwl wpwplw b hwinhuwind «Ywnduwpjnnh nghpnipd, wnmnisugnt
nglpnipd, wingkunt nghpnipd 100U »abnpphpnidp.

Zpwytph Zpuytph Uthudwyw-
wwhwbelbphi | wwhwbetkpht nwuuwtnipjul
&b | Uwulwlgh wiqutnulp hudwywwnwu- | shudwywnwu- hwdwnnn
juwiting huynbp | jpwbnn hwynbkp ujupwqpnipmnil




1 | «LEynuybkpu» UL | X | |

Uwutuhhgbph mn[ui;llillﬁljlul}gibh
QPtlrlllélhl?pulb Uwubwlgh wiwinudp | Cunpdus dwutiwljhg (wnwlg UUZ, hug,
TSIE “puad)
1 «LEynutipu» UNL X 8,6

Cunpus vwutwlght npnobkint Yhpundws sunhwihy «Funudibph dwuhbs 22 opkph
34-pn hnnJwé:

Chnpjws twutwlghtt npnobkint hpwndws swhwihy «Fumdubph dwuhls 22 opkiph
34-nn hnnJwés:

«Qunidubph dwuhby 22 opkiph 10-pn hnpjush hwdwdwyl wignpsmpjui dudltn k
uwhdwiynud unyt hwynwpupnipniup hpwywpwlytnt opdut hwenpnynn opduthg vhish 5-
1y opwgniguhtt opp tkpunjuy ptljws dudwtwljwhwnywén:

Unytt hwjnwpupnipjub hbn Juuyydwé (pugnighs mbnbimpnibbbp vnwbwnt
huwdwp Jupnn tp ghuly «22UMN2R-2018/4-2-GNLZ» Swsugpny quwhwwnnng hwtdtwdnnnygh
pupumnup Uhpuyt) Twphpjumbhb:

Zknwjunu' 060-621-249:

Ejknpniught thnuwn' marketing. ysmu8@gmail.com:

NMuwwuhpwwnnt'  «Gphwih  Uhpwp  Zbkpugnt  wiqubt  whunwlwi  pdojulul
hwdwjuwpuy» hhdtwunpud




